‘I{Jo of Printed Pages : 15 o ' 3777

(NHARTA A WL

<ifledwsd / SCIENCE 564196

(&6l womib @y mdle eull / Tamil & English Versions)

-

Cryd : 2%2 wemfl | [ Qwrés wAHLCUETEET : 75
Time Allowed : 2% Hours | [Maximum Marks : 75
feyemy 1 (1) marsg edamssenhd sflwrs el Lufaurs e drarsT eratUgemar
.

sfluriggé Qamerareyb. Hésludeale Gopulmutdear simns
. sanaranfliurerfiib o L anqurs Gsfledgsey.
2) P ez smiy ewulamer LLHGL WEUSHEL LLTLRSS
Couaor(pid. UL MiseT euenreusn@ Quendle Lweu@Eseyld.

Instructions : (1)  Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Black or Blue ink to write and pencil to draw diagrams.

GOILY : Qeuellamgsrar eenmy GAfleysmers QsrarrLg).
Note : This question paper contains three sections.
Sfley - I/ SECTION -1
(wHuClueser : 15) / (Marks : 15)

@Oy : ()  @uuiflefer 2 drer 15 ellamés@réEh el weldseb. 15x1=15
(i) SLLILE GHulgyer Gar@Gasiul(Herer Hrem@ wrHn e gafle
Bleayd sflwrer eflenLemwig Carbs®Hss e (psaLb.
Note : (i)  Answer all the 15 questions.
(i) Choose the correct answer from the alternatives given in the brackets.
1. Qupamss Csieys Cariur el Qeuefludl L euf .
(erirevav Lrredlen, afCar - - cuflev, £CraT Cgraen Qe e, glar Limlien_ev
GTLOMITE)
Theory of Natural Selection was proposed by
(Charles Darwin, Hugo-de-Vries, Gregor Johann Mendel, ]ean Baptise L.amarck)
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ls& sRewwrar wCaflus srésma 2 (Heur&@ D S

(QerrevGomgwid @GauCa, QerrevCumguwitd wGafw, AermevGiomig with
ureddumyid, QarrevGuomgwith eeueuTéen)

The most serious form of malaria is caused by Plasmodium

(P.ovale, P.Malariae, P.falciparum, P.vivax)

wriseal o Curermm sef cramepssLILBEDS. ghaald @gen

(afl QeualsCarer Camed Curenpgy, safl pESCHTD H6 Gurempg), safl 2 Care

smguLIpmidTag), safl 2 U Cared) sigamnoreans))
The mango fruit is called as stone fruit because it has :

(skinny epicarp, stony mesocarp, fleshy endocarp, hard endocarp)

orGarr Grrurefe, o eyl QurmLlsemer o Bl@hsougnsrean Spliumer
Ceurraer

(anrevCLrllukisdr, emwsCarenyer Couisdr, upm Geutreer, CauphL Geurrser)
In monotropa the special type of root which absorbs nourishment is :

(Houstoria, Mycorrhizal root, clinging root, Adventitious root)

Lsenn Geugluflwiallented o e QU EHEE THS5SIGST(H)
(Gerrevig &, sTdgb, 2 19 erravig &, GCanemer seurana GemLILITE)
Example for,product of green chemistry is :

(plastic, paper, bioplastics, halogen flame retardents)

Gl @afl mIb euELI9er merane wBlCw aimbCUTg @i LTans Qg fleugen
sryewrd, eeflufe
(Grdluadiciumred, Aspara)

When sunlight passes through window of the classroom its path is visible. This is due
to of light.

(reflection, scattering)
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upélamgmals 5H&s BTb Harapb UG Fwss Ceuam(b. QurgeursL]
vweTLhSsLLBHID UbhUmE ganenlo Cl&rerLg).
(2 Blevd/&myid)

To protect tooth decay, we are advised to brush our teeth regularly. The nature of the
toothpaste commonly used is in nature.

(acidic/basic)

SAmarggs sflns CemomsE@psGh <igliuemwre gG.HﬂLDLb

Qeredude 2 ararg).

(14 cug) CgrEdullenr/15 aug) QsmEHuden)

An element which is an essential constituent of all organic compounds belongs to
group.

(14" group/15t group)

SRS creny geflworarg Garwwrs feoLliug Gdame. Qs sTHN Siwg)
bLen dlevarfeug @dme. @) Bleveoulleyr 2 crargy.

(saflss Hevaw/Csips How)

Gold does not occur in the combined form. It does not react with air (or) water. Itis in

(native state/combined state)

ugLleflev i eveo e &1 UmGaummiento aligeud
(OBLTERe, STTLIGH, &6 o)
Buck minster fullerene is the allotropic form of

(Nitrogen, Carbon, Sulphur)

ey Blaewligieter searorer Gummefen 2 _H&LD
(Bl odlsid, s @eapey, &1, wiqeded)

The momentum of a massive object at rest is

(very large, very small, zero, infinity)

. [ SlmLiyss / Turn over
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12. &Careurl wewfl eremig) & DG G-
(Beran(pss GCeumuim(, Blendmen, LleranTHoa, WOlenenr L)

Kilowatt-hour is the unit of

(potential difference, electric power, electric energy, charge)

13. Ceurel BLL flen GHSE
(—@—, @& —.- *e—, _q ol

The symbol of voltmeter is _

(=@ &, EE - i[ =y
14. =pqud 2 marEh e mUEumEsd 1/3 arafldd bs plguilen cuams

(@ @efl, sngamd)
If the magnification produced by a mirror is 1/3, then the type of mirror is :

(cancave, convex, plane)

15. WBarammpmea eThHIT HnOrs WLIHYLD FTSELD
(Blerefwpdl, WenGomr, Blemormdl, e cupmiél)
A device which converts electrical energy into mechanical energy is

(Generator, Motor, Transformer, Power supply)

19fey - 11/ SECTION - II

‘ (nHUQuekTaer : 40) / (Marks : 40)
@iy :  oCsamibd BoUs AarrésEné@ el well&sa|. 20x2=4
Note : Answer any twenty questions.

16. < Hoaisar pso sHsT@ waflzen ey Qar@asiul L waflg Qeamisamer
auflensiLi(HSBHYLD.
(Burerigred waflge, CaprGurCandeev, GaprGomeryéL L6,
GamGomla9lwer)
Sequentially arrange the different species of man from primitive to modern man.

(Neanderthal man, Homohabillis, Homoerectus, Homosapiens)
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brevwey WLHML GauredGurisT Chpmuser UIss @Gmrrr)um;prr'eb
ghu@damear. @auradCurifie ghu@b LmSs wudpb, (s 6i&&pId
wrevwevadled Camu@ib. Gésmbné sfur? gauprs QHHeTe HEHsS T (psis.
Marasmus and Kwashiorkar are both protein deficiency defects. Marasmus differs

from Kwashiorkar in enlarged belly and swelling in the face. Are these symptoms for
the above disease correct ? If not, correct it.

BEE@TL LLE®S eUenThgl ‘< HMID ‘b’ edenerr Quwifliajb.

=

Draw the diagram given below and name the parts ‘A" and ‘B’

A

Buradley Qe Afgdler wsdw fspe ENEEs 505560 G- Q8
BanL_Gumib Hlene

(QeiGLmesrr, uTédled, gUGaTT  ear, g&CaT_lecr)

The important event of meiosis is the crossing over. It occurs during :

(Leptotene, Pachytene, Diplotene, Zygotene)

L
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20.

21.

22.

6

siburede perLClumib Glge U@L pem _

(=1) eCrrCurGsmb eumer Gearearedlle) OTHDHEIEEmET gOURSSE D).
(=) &CrmGurGsmd eueme Geanearale wTHMEIGEMmET gHuU(HSgleudlerane.
In Amoeba, the cell division takes place :

(@) Involving changes in the chromatin reticulum

(b)  Without involving changes in the chromatin reticulum

auenFwiLL(Barer Cped eflengullen G LrshismaTs GHlLkHs.

Camgl L @ misemer HlyliLs

(1) eaori Bevs Grmokiser srearliL@b Nk

(=) wrenamuen shHFmEIGET &1 rmuUT(H @GL.
Fill in the blanks :

(@) Sensitive whiskers are found in
(b) The tusks of elephants are modified



23.

24,

25.

26.

LTy seflan LpsCameller sramiiu@eug, :

(<=1) Gpriob, 2 awriGrmiow, Gprwo wplgar
(<) Grmiod, paw, ey mamisar

(@) Cymow, o ewriCrmioib, G@ambyser
(7) Grriow, pab, Cedaaer

The epidermis of mammals contains

(@)  hair, bristle, quills

(b)  hair, nail, claw

(c)  hair, bristle, horn

(d) hair, nail, scale

ennebulear =i iumLuld s fs :
SOmson :  Leder 5&(HGerT
Gleuereumred :

Whale : Baleen plates
Bat :

3777

Feurdlggedle eTanLg smiuen Qarar Cefolb, W&l & uflevid

GTEILIg sfling Cerwob
In the process of respiration
carbon compound.

>

is carbon compound, the lactic acid is

2 DIFILBSSIFEO : Ll Crraflugams SMHULS SRS eTam DienpdHCnmid

R: amewid : Qe Comiiy, mreflep, ureblgSen wpmid Gerrevigd Cumam

Qurmlser swrfést Uheaudler o LGuTsLTammen.

(1) Asflureng, R SaUDTETE
(<) A sflwrerg), R sflwrerg
(8) A seunreng), R sfwreng
(FF) A geupreng), R geupreng,

A.  Assertion : Petroleum is called as Black gold.
R.  Reason : These are used in manufacture of deterg

plastic substances.

(@) Ais correct, R is wrong
(b)  Ais correct, R is correct
(c) Aiswrong, R is correct
(d) Ais wrong, R is wrong

ents, fibres, polythene and other

[ Hpliys / Turn over
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27.

g °

(% ErTogdla 2008-2009 D Sya@Tge ghulL QsTHm Grmisafien eflairin
al L eiempuLwLrs Gar@ssuul(HeTers. Qesmer emThHI Cpréd
Spssar_auping efawallssa.

- QL@ smuFs®,
He@en Geanwm

TOGHMUEF

(1) QUHLLTEIENOWITET LO&ESEET grédlul GHMUSET wWrees?
() ereueurm @bs Comise ureydlenmest?
(@) wHm G Cpmismar SL_HLUUESSID TCSEULD PETD (PEPDEEET 6T (LS

The pie diagram represents a survey result of infectious diseases of a village durirt
2008-2009. Analyse it and answer the following :

Dengue fever,
chikungunya

Cholera

Rat fever

(a) Which diseases affect the majority of the population ?
(b) How are these diseases transmitted ?

(c) Write any three measures to control the other two diseases.
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QUMmBBSTS QRETenDS SeuTL_HlWe|LD.

(=) 2.u9f SpEaDTED, LEDE L&D, 2 UMl e, Gul Crredluib

(=) sTerT, @L-uri@®, Gerd Srbis, E5Gug)

Odd man out :

(a) bio-alcohol, green diesel, bio ethers, petroleum

(b) cholera, typhoid, scabies, dysentery

CuTE@aTES cursamsaiic LB Hrend o 19 erl@ur(mL_&emer eT(PSis.

Write any four liquid bio fuels for transportations.

10 Sigmd Frgmyeant 2 Lienu 40 Ay Bild sarsHHio Cugl 2 (HEUTET SHEIE
QeMefern Flevp sp6issmss samsE (Hs.

Take 10 g of common salt and dissolve it in 40 g water. Find the concentration of
solution in terms of weight percent.

> GEPIDE HEIEME, Faplod samrseldlhig CalnuBSss.

Distinguish between true solution and colloidal solutions.

wpl roaian epwssmp Hon 28, s Sembleop 14, & 15 L 17 0 &0l &1
SgmEs [ aarmans GHUIGS.

Molecular mass of nitrogen is 28. Its atomic mass is 14. Find the atomicity of nitrogen.

G soTsdlen @aniy résld Siweafluler Qaday 1.0x1077 M erafle sigen pH
W&l eremen?

The hydroxyl ior" concentration of a solution is 1.0%x10~9 M. What is the pH of the
solution ? N

(i) SETETTIDLES SOMOEF GICNCEEBERL

() Qusadu prirmeas srpfled erfls@bGUTEID
s euanawrar Geudledenanaer BlapLD?

What type of chemical reaction takes place when

(i)  lime stone is heated ?

(i) a magnesium ribbon is burnt in air ?

[ Sl / Turn over
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35. X eremp Geuerafl Gumeny Gleuairento lr_lf,lr_r) 2 Canmsd psailge er Ceoibg)
85 5h8Ingl. @Cs Y erenm Gsiwwreng X Brreflujer eflenar LMl Curg
eanL_rmear Geuafludll dlen&8mg). X womn Y 08 san(Hiflg.

X is a silvery white metal. X reacts with oxygen to form Y. The same compound i

obtained from the metal on reaction with steam with the liberation of Hydrogen gas
Identify X and Y.

36. @(I_'ngLi SiLT HC whmid @i HySO, o e aflenen HfEmg. opemmed <y
HNO; 2 Lan eflenen Lfleug) @evene. sflwimren STIETSGIL 6 2 67 6SlenL_ani
(SIS

Iron reacts with con. HCI and con. HZSO4. But it does not react with con. HNOB.
Suggest your answer with proper reason.

37. Qumrmssgs :
Gerrinmisar eflener Qewier CgrEd)
DDOEAUDTE >C=0
2 igman —OH
ELCL e — COOH
&TTur&ESlells ofleos  — CHO

Match the following H

Cor;apound Functional groups
Alcohol >C=0
Aldehyde —OH
Ketone — COOH
Carboxylic acid —CHO

== == - —
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Eparanib spnsaie e Qurmaiar HapGur® Gsriinldwrs ambamp
TG!S

(1) @8 @0 quuoL Sjarey

(<) @8 @Quphwd grrs Caram® SieTsEsLOEDS.

(8) @& efagrrs Qaram( sierésiLBEDS).

From the following statements write down that which is not applicable to mass of an
object :

(@) Itisa fundamental quantity
(b) Tt is measured using physical balance

(c) It is measured using spring balance

@afifl Gemfleon ugder wafluwrer Lwer @allfl erAGuTmeT 2@, Gafifl
erflQummer eramugen QUIT(HeneT 2 awTiég)s.

The important use of cryogenics is cryogenic fuels. What do you mean by cryogenic
fuels ?

Spsranib sppsaie @b ¢1HCUNEH Agrii9oamrsams TP,

(=1) BanGenmiL1b / fleanpss Coumuim® = wrdlad

(=1) Bleaampss Coumur® / WearGermi L b= wmbled

(@) BanGarmi b= flengen x Wenanpss Caumuim(

From the following statements write down that which does not represent ohm'’s law.
(a) current/potential difference =constant

(b) potential difference/current =constant

(c)  current=resistance X potential difference

LIYETIT Hme pohisaiar Quwise EC srluul(dtarear. <yarmd,
SeupmieT flo geum. seupTaTeuHemL LI g wed([Hs.

(8TOD BOPD, Gilw wHD, Curme dmD, Sillar @bdnd, EssM
2bOOD, o POND  Lefl-Diamed pHme)

In the list of unconventional sources of energy given below some of them are wrong.
List out the wrong ones.

(wind energy, solar energy, tidal energy, hydro electric power, nuclear energy,
wave energy, geothermal energy)

[ &mliys / Turn over
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42.

43.

44.

45.

12
1.5 V Benalwée@ efllens Qarawmr @ Wemseansger 5 b, 10 glb, 15 g
BlengenL_ger Hmb Frell @eunerms CFTLyrs CaTearT ¢ &HMmIL UL Slaner

QU S.

Draw the schematic diagram of an electric circuit consisting of a battery of two cells of
1.5 V each, three resistances of 5 ohm, 10 ohm and 15 ohm respectively and a plug key
all connected in series.

-

oolbaTiiy @)L deng efldlenus euenTuimi.

Define Fleming's left hand Rule.

Geraumid eursHlwsdler Wenwaetmulen $lmssebd.
(=1) smhsl Leod eranr Wiy wi(Hib Csrar. ojarey

(=) amhs llenss Car(Hser sTHES CFen (panaruie CsmLmgl euipanerulle
@ ememTuyLd.

Correct the mistakes, if any, in the following statements :
(a) Magnetic field is a quantity that has magnitude only.
(b) The magnetic field lines emerge from the south pole and merge at the north pole.

L+

@M GYQardlear @ellw grrid 2 5 erafléd Qeaadlear Smer srams.

(eHuy : p=1/f)
The focal length of a concave lens is 2 m, calculate the power of the lens.

(Note : p=1/f)
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\9fley - III / SECTION - II
(oglLCQueTaer : 20) / (Marks : 20)

GOy : () @aQarm uEHUaHEED @k e aSsb BeNE efamésEhis

Slev_wefl&sab. 4x5=20

(i) Caemeuwiren QL misafled LL D euemys.

Note : (i  Answer any four questions by choosing one question from each part.

46.

47.

48.

(i) Draw diagrams wherever necessary.

u@&& - 1/PART - 1
(1) gyl QurMuwed eremmmed eremmerm?
(<) wryu Qurdluiwiellen BaTenSET WiTEm6U?
(a) What is genetic engineering ?
(b)  What are the uses of genetic engineering ?

ST GHeng GlLIHmeTaTTi.

(<) Upbs GLb@ssE (Pee M LISLEELEEH aiphs Caamgw Coriis
SHULSE S L euamemTanul 6T(LHEIs.

() sGLyslasar epad eahdshs Chrismar 5O Guiand ?

Kala has delivered a baby.

(@) Suggest the immunization schedule for the baby in the first six months.

(b)  What are the diseases that can be cured as per the schedule ?

U@g - 11/ PART - II

(=1) safl 2 (meur@b Hapsflaws sagy ?

(=) @BHlawpsflulenar smesLrs edeuf.

(8) @pblspeimans GheEn UL sHmar aumrhgl, LTakismaTs @,
(@) Name the process by which the fruit is developed ?

(b) Give the development process in brief.

(c) Draw a neat diagram of that process and label.

[ Smlius / Turn over
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49. (=) &uperer QurmL_sanar euansLILU[HSS)s.
(slenL, sTélsbd, Garreviqd. Uphaer)
(=) 2 argient W euesLILTL g HeTen ersssmss &(mHs.
(a) Classify the following substances.

(wood, paper, plastic and grasses)

(b)  Give detailed account on your classification.

U@ - 111/ PART - III

50. @@ Lbwer ysadlger Blemub e Limwer emamL_yemen Hleavpu|id o 10&Eé
- Qerésuul Berarar. oCarCsl Crr el (p&sEm Blans@n <6l
" SILTEHEGL 2 drer QerLienu eumedlds.

You are given the values of mass of one volume of oxygen gas and the mass of one
volume of hydrogen. By applying Avagadro’s law how will you establish the relation
between vapour density and molecular mass of a gas ?

51.  Qemeumeuameupdlen Qurgls Quwit wHmb TUPAC Quiisenar TS5
(1) CH4CH,CHO
(<) CH3COCH,
(@) CH,; - CH-CH,
oH
() CH,COOH
(2)'HCHO
Write the common name and IUPAC name of the following :
(a) CH3CH,CHO
(b) CH,COCH,
() CH;- (IiH —CH,4

OH
(d) CH;COOH
() HCHO
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u@3l - IV / PART - IV

52. (<) Bl Laflen epempreug ediiLg geubeurm flevend @D snEE
sLolomer yenred eréli flensuiier GewiduiBeugiorear @i erdli ellenar o awr(H.
Qeusiflaow eOosisam _HsErLen edersEs.

(2b) F=Gmm,/d? eremugl flulLefler micnQuwe efdulen saflg aligeulb.
Blup e rrlfiie eldew eurisengseficn TSI
(a) Newton’s third law of Motion : For every action there is an equal and opposite

l reaction. Explain this law using illustrations.

(b) F=Gmym,/d? is the mathematical form of Newton’s law of gravitation. Give the
‘ statement of Newton’s law of gravitation.

53. uulLsgdlen aufiCu gefleflesd LHB LLD cumrhg efersd ET(LPS@LD.
Draw and explain the refraction of light through a prism.

-00o0-
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